		Cust	omer Meter Su	mmary		
Meter Number	Read Date	Prior Read Date	Number of Days	Meter Reading	Prior Meter Reading	Total KWH
ST LIGHTS	12/30/15	11/28/15	32			

**Account Summary** 

Prior balance Payments received through 01/04/16

\$0.00+

\$0.00

**Balance forward New charges** 

\$22,630.75+ Electricity Delivery: Central Maine Power (see detail below)

\$0.00

Electricity Supply:

Current Account Balance:

\$6,038.32+ Constellation NewEnergy, Inc.

Total new charges

Please pay before 01/31/16

\$28,669.07 \$28,669.07

# Central Maine Power Delivery Service Account Detail

Prior balance for Central Maine Power delivery Payments received Balance forward

\$0.00+

\$0.00 \$0.00

**Current delivery charges** 

arrent denies, juine ger		
Delivery Charges: Street Lights		
Sodium Enclosed 50W	331 units @ \$9.21	
Delivery Service	331 units @ \$1.17	
Lighting Equipment	331 units @ \$8.04	
Sodium Cut Off 250W	30 units @ \$18.40	
Delivery Service	30 units @ \$5.42	
Lighting Equipment	30 units @ \$12.98	
Sodium Flood 400W	3 units @ \$21.88	
Delivery Service	3 units @ \$8.36	
Lighting Equipment	3 units @ \$13.52	
Sodium Post Top 100W	148 units @ \$11.45	
Delivery Service	148 units @ \$2.33	
Lighting Equipment	148 units @ \$9.12	
Hald Spc Esplnd 175W	5 units @ \$32.55	
Delivery Service	5 units @ \$3.80	
Lighting Equipment	5 units @ \$28.75	
Sodium Cut Off 100W	103 units @ \$11.45	
Delivery Service	103 units @ \$2.33	

\$387.27+

\$2,661.24+

\$162.60+

\$389.40+

\$25.08+ \$40.56+

\$344.84+

\$1,349.76+

\$19.00+

\$143.75+

\$239.99+

Photos see restrict to memory detail into more t

Summary bill please keep stub



Your CMP account number

441-100-3621-011

Central Maine Power PO Box 847810 Boston, MA 02284-781010 Please pay this amount

\$28,669.07

before 01/31/16 so you can avoid late charges

Please write amount paid:

Thank you!

Please do not write below this line

CITY OF SOUTH PORTLAND **ELEC DEPT** 25 COTTAGE RD ME 04106-3604 SO PORTLAND

Group Code: 10820

## **Central Maine Power Delivery Service Account Detail**

(continued from previous page)

		12	
Lighting Equipment	103 units @	\$9.12	\$939.36+
Sodium Enclosed 70W	108 units @	\$10.04	
Delivery Service	108 units @	\$1.72	\$185.7 <del>6+</del>
Lighting Equipment	108 units @	\$8.32	\$898.56+
Sodium Enclosed 100W	165 units @	\$11.07	
Delivery Service	165 units @	\$2.33	\$384.45+
Lighting Equipment	165 units @	\$8.74	\$1,442.10+
Sodium Enclosed 150W	135 units @	\$12.64	
Delivery Service	135 units @	\$3.50	\$472.50+
Lighting Equipment	135 units @	\$9.14	\$1,233.90+
Sodium Enclosed 250W	158 units @	\$17.06	
Delivery Service	158 units @	\$5.42	\$856.36+
Lighting Equipment	158 units @	\$11.64	\$1,839.12+
Sodium Flood 250W	11 units @	\$17.49	
Delivery Service	11 units @	\$5.42	\$59.62+
Lighting Equipment	11 units @	\$12.07	\$132.77+
Sodium Post Top 150W	13 units @	\$14.25	
Delivery Service	13 units @	\$3.50	\$45.50+
Lighting Equipment	13 units @	\$10.75	\$139.75+
			Please see next page for continued Jetail information.

## Customer information for your delivery service

Delivery rates are as approved by the Maine Public Utilities Commission. For bills that cover both electricity supply and CMP delivery, CMP forwards energy-supply payments to the appropriate energy provider. For a schedule of CMP delivery rates, call 1-800-565-3181, or visit www.cmpco.com on the Internet. Our TTY number for the deaf is: 1-800-445-5631.

#### CMP's delivery role under Maine law

The State of Maine changed the electricity-utility business as of March 1, 2000. The law now separates electric supply from its delivery. You may choose a competitive energy provider, or automatically take energy from the Standard Offer provider. CMP no longer generates electricity. We operate the system that delivers your electricity, and we service your account.

#### Questions?

To ask a question or dispute a bill, you can call 1-800-565-3181 or e-mail customer.service@cmpco.com, or write to CMP Customer Service, 83 Edison Drive, Augusta, ME 04336.

#### Planning a move?

Please let us know. You are responsible for any usage at your billing location until you tell us the account should be closed.

## Payment arrangements

If you have trouble paying your bill, a payment plan may help Call 1-800-565-3181 for more information.

#### Late-payment charge

Bills are due on receipt. A late charge of 0.892% will be applied each month to balances unpaid after 25 days from bill postmark.

#### To report an outage

Call 1-800-696-1000. If call volume is heavy, an automated system will log your call and generate a repair order.

#### Sales-tax exemption

Maine sales tax does not apply to the first 750 kilowatt-hours (KWH) of residential usage.

## What's a kilowatt-hour?

Electric power is measured in watts. 1000 watts of power used for 1 hour is a kilowatt-hour (KWH) of energy. Example: a 100 watt bulb lit for 10 hours uses 1 KWH of energy.

#### **Estimated Bills**

When we cannot read your meter, we will estimate your usage for the month. You have the right to read your own meter. Call us at 1-800-565-3181 or visit www.cmpco.com for more information.

	Mail Address Changes  Please "X" for mail address changes and fill in your new mailing address information below.
lf you are	moving or need to stop service

Please call a Customer Representative at 1-800-750-4000

To sign up for automatic payments, please mark an "X" in the box, and sign and date below
Signed Date: Pay my bill (check one): when my bill arrives OR # of days before due date (circle one below)
4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23  (Example: Circle *15* to pay your bill 15 days before the due date.  It does NOT mean your bill will be paid on the 15th of each month.)

To complete your enrollment, please:

- 1. Include a VOIDED check with this pay stub.
- Allow up to 30 days for processing.

Please do not write below this line

# Central Maine Power Delivery Service Account Detail

(continued from previous page)

		Acr 00		
Sodm Spc Hallbrk 70W	18 units @	\$25.82	ton or.	
Delivery Service	18 units @	\$1.72	\$30.96+	
Lighting Equipment	18 units @	\$24.10	\$433.80+	
Sodium Cut Off 50W	349 units @	\$10.84	A.00. 00	
Delivery Service	349 units @	\$1.17	\$408.33+	
Lighting Equipment	349 units @		\$3,374.83+	
Sodium Cut Off 70W	105 units @	\$10.76	A	
Delivery Service	105 units @	\$1.72	\$180.60+	
Lighting Equipment	105 units @	\$9.04	\$949.20+	
Sodium Cut Off 150W	21 units @	\$13.61		
Delivery Service	21 units @	\$3.50	\$73.50+	
Lighting Equipment	21 units @	\$10.11	\$212.31+	
Hald Spc Grnvl S 70W	6 units@	\$22.17		
Delivery Service	6 units@	\$1.72	\$10.32+	
Lighting Equipment	6 units @	\$20.45	\$122.70+	
Sodm Sp Mgse Flood 400W	35 units @	\$41.55		
Delivery Service	35 units @	\$8.36	\$292.60+	
Lighting Equipment	35 units @	\$33.19	\$1,161.65+	
Hald Spc Hlbrk 175W	10 units @	\$29.55		
Delivery Service	10 units @	\$3.80	\$38.00+	
Lighting Equipment	10 units @	\$25.75	\$257.50+	
Special facilities			\$691.21+	
Delivery Service Charge			\$4,217.28+	
Lighting Equipment Charge			\$17,722.26+	
Total current delivery charges				\$22,630.75
Central Maine Power account balan	nce			\$22,630.75

Messages about your Central Maine Power delivery account

This account is tax exempt.



# **Electricity Supply**



# Constellation NewEnergy, Inc.

Your CNEME account 1285298

Billing date:

Hours:

01/04/16

Phone:

1-877-997-9995 8:00 A.M. - 5:00 P.M. CITY OF SOUTH PORTLAND STREET LIGHTS SO PORTLAND ME

Page 004 of 005

## **Electricity Supply Account Detail**

Your electricity is supplied by: Constellation NewEnergy, Inc.

Prior balance for Constellation Payments received	n NewEnergy, Inc. electric	\$0.00			
Balance forward			\$0.00+		
			\$0.00		
Current electricity supply char					
Energy Charge - Rate N0143	(11/29/15-12/30/15)				
Unmetered Service	9815 KWH (a)	. 056500	\$554.55+		
Energy Charge - Rate N0143	(11/29/15-12/30/15)				
Unmetered Service	4106 KWH @	.056500	\$231.99+		
Energy Charge - Rate N0143	(11/29/15-12/30/15)				
Unmetered Service	636 KWH (a)	. 056500	\$35.93+		
Energy Charge - Rate N0143	(11/29/15-12/30/15)				
Unmetered Service	8777 KWH @	. 056500	\$495.90+		
Energy Charge - Rate N0143			417317		
Unmetered Service	479 KWH @	.056500	\$27.06+		
Energy Charge - Rate N0143	(11/29/15-12/30/15)		427.00		
Unmetered Service	6109 KWH (a	.056500	\$345.16+		
Energy Charge - Rate N0143			42.72.10		
Unmetered Service	4681 KWH @	. 056500	\$264,48+		
Energy Charge - Rate N0143	(11/29/15-12/30/15)		W		
Unmetered Service	9785 KWH @	.056500	\$552.85+		
Energy Charge - Rate N0143					
Unmetered Service	12009 KWH @	.056500	\$678.51+		
Energy Charge - Rate N0143	(11/29/15-12/30/15)		4010:31		
Unmetered Service	21624 KWH (a	. 056500	\$1,221.76+		
Energy Charge - Rate N0143			71,221.10		
Unmetered Service	1505 KWH (a	. 056500	\$85.03+		
Energy Charge - Rate N0143	(11/29/15-12/30/15)		- V. V.		
Unmetered Service	1156 KWH (a	. 056500	\$65.31+		
Energy Charge - Rate N0143	(11/29/15-12/30/15)		402.71		
Unmetered Service	780 KWH (a	. 056500	E CORT MENT CORT CORT CORT MAN TO CONTRACT MENTANGE AND DOOR CORT CORT CORT CORT CORT		
Energy Charge - Rate N0143					
Unmetered Service	10349 KWH a	. 056500	1 0000 1900 1 0000 1 0000 1 0000 1000 1		
Energy Charge - Rate N0143 (11 29 15-12 30 15)					
Unmetered Service	4551 KWH (a)	. 056500	\$257, 13+		
	20.11 11	. 020300	5237.13 <sup>™</sup>		

Please see next page for continued detail information

50		
T		

	Electricity	Supply Account Detail	(continued from previous page)		
Energy Charge - Rate N0143 (1	11/29/15-12/30/15)				
Unmetered Service	1868 KWH @	. 056500	\$105.54+		
Energy Charge - Rate N0143 (1	11/29/15-12/30/15)				
Umnetered Service	260 KWH @	. 056500	\$14.69+		
Energy Charge - Rate N0143 (11/29/15-12/30/15)					
Unmetered Service	7425 KWH @	. 056500	\$419.51+		
Energy Charge - Rate N0143 (11/29/15-12/30/15)					
Unmetered Service	958 KWH (a.	. 056500	<b>\$54.</b> 13+		
Total current electricity supply	charges	\$6,038.32			
Constellation NewEnergy, Inc.	account balance	\$6,038.32			

## Messages about your Constellation NewEnergy. Inc. electricity supply

Central Maine Power provides billing services for your electricity supplier. Supply payments are forwarded on your behalf, in accordance with the Maine Public Utilities Commission (MPUC) rules.

The average price per KWH for your electricity supply is \$0.056499.